Stat 2470, 4/9 Discussion Questions Name

Instructions: Attempt to answer these questions by reading the textbook or with online resources
before coming to class on the date above.

1. What are some terms that refer to the input variable in an equation?
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2. What are some terms that refer to the output variable in an equation?
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3. What is a scatterplot?
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4. What does a simple linear regression equation do that just picking two points from the dataset
cannot do?
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5. How is the error term in a regression equatjon distributed?
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6. How can we tell from the scatterplot that a linear regression equation is reasonable?
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7. What does the notation x* refer to?
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8. Whatis the principle of least squares?
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9. What are the formulas for finding b, (the estimate for the slope parameter) and b, (the
estimate for the intercept parameter)?
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10. What is the problem with e;?rapolating beyond the: data range input into our model?
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11. How are the residuals for a model calculated?
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12. Why is the degrees of freedom for a linear regressian model n — 2 ratherthann — 1?
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13. What is the coefficient of determination and how is.it calculated?
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14. What does the coefficient of determination tell us about our model and its relationship to the
data?
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15. What is the formula for the standard deviation for the slope parameter ;? How is it calculated
from the data?
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16. Why do we generally use a T-test statistic for the linear regression model rather than a Z?
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17. What is the confidence interval for the slope of the linear regression line?
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18. How do we find the confidence interval for the slape in the calculator?
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19. We can also conduct a hypothesis test on the slope parameter. How can we perform this test by
hand and in the calculator? What is the typical H, for this test?
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